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A sprinter runs a distance of 200 metres in 25 seconds.
Work out the average speed of the sprinter.
a4 dhigtance
o, oy ___’__./-"‘_—’_
e P ce timn £

e

25
<<,?> ..................... . m/s

(Total for question 1 is 1 mark)

A block exerts a force of 120 Newtons on the ground.
The block has an area of 2 m’, ' force
pressure = -
Work out the pressure on the ground. 1 area
pressore = _‘,-—?Lo = 60 N/m
s sesnenssnsasisaseares 60 ..................... N/ m?
(Total for question 2is 1 mark)
3 A piece of gold has a mass of 760 grams and a volume of 40 cm’.
Work out the density of the piece of gold.
eSS
. _ e
0{/64’?/ S ¢ ﬁ Vo lurt e
4 3
= Zé_g— = ]9 j / crm
7 ) 9
....................................................... glem’

Work out the volume of the rock.
oo S S
volume = density

4 A rock has a mass of 56 grams and a density of 3.5 grams/cm’. D ‘ \/

56 - ] 2 - /éCI/[/L,B

= e

3.5 7 ’
/6 cm’

(Total for question 4is 1 mark)
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A car travels a distance of 230 miles in 4 hours and 15 minutes.

Work out the average speed of the car, in miles per hour.
Give your answer to 1 decimal place.

Ais{ance
tim 2
. 230
# 25

s‘peeoé

- ‘5gh/»H4Pk .............

~

%25 l’\onS

.................... ceveerernieneeene. .. miles/hour

(Total for question 5 is 2 marks)

6 A block exerts a force of 84 Newtons on a table.
The pressure on the table is 30 N/m2 | force
. | pressure = —
Work out the area of the box that 18 1n contact with the table. : area
e L
arfa = ﬁt——
préSsure
2
= 84 - 2.93m
(0]
........................ 25 m?
__(Total for question 6 is 2 marks)
7 A liquid has a density of 1.3 grams per ml.
Find the mass of 250 ml of the liquid.
mess = olems, ‘:Zj X vo lume
= /.3 x 250
= 325{j
................. S328 g
(Total for question 7 is 1 mark)
8 Dani leaves her house at 08 00.

She drives 63 miles to work.
She drives at an average speed of 27 miles per hour.
At what time does Dani arrive at work?

) d(J-{a‘?Ci
é’//’l’l—& = ;Pe,eaé
g3
27

T 2. 3 hour 3
T 2 hovys 20 s

(Total for question 8 is 2 marks)
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| Anthony travels from Newcastle o Manchester at an average speed of 65 miles per hour. \
The journey takes him 2 hours and 15 minutes. 9 2.5 lhouwrs
Declan makes the same journey in 2 hours and 35 minutes. //S_JL
(a) Work out Declan’s average speed for the journey.
}474,{/140 ny. Astan € = S‘f«e ed x time
= &6 x 2.7 5
= (4§ 25 mnile s

Declan

y(;j-{am €

b) ed =
/)€ Lim e
iy c.25
\ 9.583
Qs 35 wins

i

56.6 m}j(e;/l,\our (/ﬂ(p)

o

{ook ;(dl‘-ffifemé ro ke ,-,é\or Codok
(b) If Declan stopped-for-a-break-dusing: his journey, how weutd this affect your answer to part (a)?

......................................................................................................................................

...... fhﬂif{édlwowfﬁiéﬂhlghbf

; (b
{/f He distance Adecreared (he speedt woulol be lower)
(Total for question 9 is 5 marks)




Rachel drives 300 miles from London to Newcastle.
She drives the first 165 miles at an average speed of 60 mph.

From this point it takes Rachel 3 hours and 15 minutes to complete her journey.

What was Rachel's average speed for the whole journey?

FIRs7T 165 miLES
Eivhs = Aistonce
speeot
- ﬁ.{ = 2.74 hours
6o
= Qhours ¥5 mins
2 hours ‘-(/5 1 Weruy s 1S = A (Ao_vrf

13- 5—trTTES—tE~F

averaje

5p ¢ ed =

‘Z’D{“( Aistance

lstal t/me
_ 30 o
4

(Total for question 10 is 4 marks)
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Andrew ran 3.1 miles in 14 minutes and 35 seconds. \
He assumes he can run 8 miles at the same speed.
(a) Work out how long it would take Andrew to run 8 miles.

Give your answer in minutes and seconds to the nearest second.

Aisbanee

sj.paed = ‘b amins 35 secs
&/.M"e .
=y 583 min?
= 3.1
Jy. 563

= 02/2 § 7 ... m\»Le_\:/ a2kt

E, ; e )/"“”"/4_—,\{ 4
Eime = 0(,-3{&,456
j/o.eeoL-
2 B = 7 mins Y sec
0.2/257
........... 57 mins 38 secs
C))

Andrew’s speed actually decreases the further he goes.

(b) How does this affect your answer to part (2)7?

(Total for question 11 is 5 marks)




Liquid A has a density of 1.2 g/cm®

150 cm’ of Liquid A is mixed with some of Liquid B to make Liquid C.

M
Liquid C has a mass of21‘0 g and a density of 1.12 g/c‘rn3 D / v
Find the density of Liquid B.
L{ofpu‘d A Mma sSs = d@r\%'\ﬁj x velame
= 1.2 x 180
= 180 9
Ao 3
'Li"[uid C volum2 =
oier\s'\‘:—j
_ 210
|12
3
xs I8 7.5 am
Liquid B8 Veolwme = Liguid ¢ — Liguid A
= J/¥7.5 — 15¢
= 37.5 e’
L;7%’.d A rass = Z’;7M;o[ C — L/7u/o( A
= 2/0 — _jLo- /&0
= 30j
ma sl __-————30
n n O('e/’l = T = O. S/
L 70 oA B 529 c T s 37.5
.................. 2.8

(Total for question 12 is 3 marks)
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100ml of liquid A and 200ml of liquid B are mixed together to make liquid C.

Liquid A has a density of 0.7g/ml.
Liquid B has a density of 1.1 g/ml.

Work the density of liquid C.

Li7vt/"o{ A m aSSs

)/1‘7(,“':1 R pmass = .| x 20O

- ; a—/ )
Liquid € density = tot °

- 2 90
R e
300

- ©0.-9¢ j /rm [

Oqé .................. g/ml
(Total for question 13 is 4 marks)
—
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1 The number of rabbits in a field 7 days from now is £ where

P, =220
P, =115 -20)

Work out the number of rabbits in the garden 3 days from now.

fo= 115(220-20) =

= A30)
é: /./S(ﬁﬂi‘-_j&o} =~ 242
o =115 (Ans—20)y = 255
neareést
//1%67 er
R e
(Total for question 1 is 3 marks)

2 The number of people living in a town ¢ years from now is P where

P, =55000
P =1.03(P —800)

Work out the number of people in the town 3 years from now.

Fs = /-OS[H-ns— goo)

p. = /o3 ( Ans — F00)
1

/9/ = /.03[55000 - soo0)

(Total for question 2 is 3 marks)

- 8§52 ¢
= 56¢ 77
> 57597

(m’_areﬂ VISETY)
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3 Using xn,,,=3+£2
xﬂ
Withx =3
Find the values of X, X, and X,
7 ¢
— + =
2, 5 B
o , a -~ 5625
iy = 5 F 3 = 3
(Ans
S 1 = 2. 70914127
(ﬁmsf
N S
x=.2.5625 .
2
x,- 2.0 %121y
(Total for question 3 is 3 marks)
. 5
4 U =
S L x:+3
Withx =1
0
Find the values of X, X, and X
5 -
Z - 2 - l.25
/ (,) + 3
- = = I58904 !
I 2 = 7 s / O S g O q’ l
(pns) +3
Ax ™= 5 - J1.1901992667
~ r
NS + 3
(Ams) 25

(Total for question 4 is 3 marks)
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K

5 Starting with x, =3, use the iteration formula x,,, = .

5 + 2 three times to find an estimate for the
solution to x* —2x*=7 %

% = L5 r2 = 25

(3) 7
i’ “—(l)a + L = 2.9%0772
ANS
Q; = _1_)2 + 2 T R.BRR22LYE
(ANns

(Total for question 5 is 3 marks)

6 Starting with x =0, use the iteration formula x,,, =

743 three times to find an estimate for the
solutionto x* +3x = 2 Xn
Z -2
L~ (0)>+ 3 3
Z‘L = _____Z_____ s %
(Ans)” + 2 2
_ 2
Ly = " = 0. 599314000 6
(Ang) + 3

0. 3973/+CO00E

k (Total for question 6 is 3 marks)

J
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7 Using x,,, = iz +2
xll
With x =2.5

(a) Find the values of x , x, and X,

5
X, s Ty TR T 2.%
(2.5)
~ oy _ - —
XH = - , t2 = 2.6377 S3 0
(Ars)
— . € 6229 14
x 3 = ,i 2 1—2 — 2’ 7
(P ) -1 S
1
r=2:637720107
3)
(b) Explain the relationship between the values of x , x, and x, and the equation X-2¢-5=0
2 (x—-2) -5 = ©
x(x-2) 7 3
xo2 T G
r s = 2
x 2
1 3 —
3. redlranagment ok A TLx T2T0

2)
(Total for question 7 is 5 marks)

J
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(a) Show that the equation 2x’ — x’~3 =0 has a solution between x = 1 and x = 2.

3 2 _
when X =1 200) — (y -3 = -2
3 (A -
whea x T 2 2(2) —(2)y -5 = 9
one  positive ool e AQJ“HUﬁ’? wluhon  belueen
] ool 2.
2
(b) Show that the equation 2x’ — x*—3 =0 can be rearranged to give: x = \/ 5 3 1
x—-
762(296 - I) -2 = o
x* (Z_)o — 1) = 3
¢ - 3
= < -
2= -

2 :\(_:}/_:‘
2> — | )

3 .
(c) Starting with x,=1,use the iteration formula *,.; = J 7% —1 twice to find an estimate for the
solutionto 2x’ — ¥*~3=0 i

_ = -
7 =/ = {3

_ S -l RRYsIES
e = ; 3
2(Ans) — |

(€))

(Total for question 8 is 6 marks)

\
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Using x,,,=1+ Lz
xn
Withx =2

(a) Find the values of x , x, and x_.

L, =/ (2)

A 5 s
! 191
)CZ = ( - — ;[.%7|5’©2%q .
( AN )l X T s / 2‘5 .............
/6y
b I

3
@A)
(b) Explain the relationship between the values of x , x, and x, and the equation X—-x-1=0
« " (x - ) =\
(
x — | =
2
o o
\
x = |+ T
:)C,_L
_ + L 2
X Izt cganengemial o 2T TLI9
A, Tgoend Xx  ace.. eibmates of. & Solation
N e et ot

2)
(Total for question 9 is 5 marks)

J
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10 (a) Show that the equation x’ +4x =1 has a solution between x =0 and x = 1.

x;+‘fx~/ = 0

whit x = 0 (o)3+ 4 (o) «|} -

ol

3
x = | oYy +«() -1 =
O ne ’Oosiﬁvf, one AEJC\."\—Vf So| whont Ledoween
O  and |
2)
3
(b) Show that the equation x* +4x =1 can be rearranged to give: x :Z_xT
~ 3
Gbox = | —
( 3
= - X
X = oy S

. )

1 X, . .
(c) Starting with x = 0, use the iteration formula Xx,.; = 772 twice to find an estimate for the

solutionto » +4x=1

3
/
¢ 4
- (Ans) - o 24609375
;(2 U
Z_/

O- 24609375

...................................

(Total for question 10 is 6 marks)

/
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3 A
B is a point on the circumference of a circle, centre O.
AB is a tangent to the circle.
Angle BOA =72°
Work out the size of angle BAO.
You must show all your working.
o8n = 90° Tangend  meetd podics ot 7o °
6’4—0 = ;] PO — ?O "'72 A‘ng{—é.} S n o t"f'/“ ‘7'-"'_9[’{
o oot to 1IO°
= f
a8 /.8

T ——

(Total for Question 1 is 2 marks)

<7

B

A, B, C and D are points on the circumference of a circle.
Angle BOC = 66°

(i) Find the size of angle BAC.

23 .

(ii) Give a reason for your answer.

The a/ng/e, ol Che  CirCismg Ao@ e i1l L Ly o L
fe O/L(jl/-(’ ol Tl (LA

(Total for Question 2 is 2 marks)

N i




3

B and C are points on a circle, centre O. 4 = J

AB and AC are tangents to the circle. 08A and OC 7 70

S P {7

Angle BAC = 40° »ﬁﬂjM{ me et ooli 7

Work out the size of angle BOC.

You must show all your working. "

. =
2660 —90 —a6 —«C 40
Prgles in = geaolrl ot erol nge
aded o S60° (Total for Question 3 is 3 marks)

4

A, B, C and D are points on the circumference of a circle.

Angle CAD = 62°
Angle ADB =51°

(i) Find the size of angle ACB.

S

(ii) Give a reason for your answer.
/47’13 (e #l"c‘)m I~ Soum 2 ,.0 o;‘/lh \//’b 725

C/’[[;U/u 'ﬁere,/; c,e/l ) W p,auﬂzf

(Total for Question 4 is 2 marks)

-

/




AC

4, B, C and D are points on the circumference of a circle.

Angle BAD = 94° e 3
Angle ADC = 83° / §0 g

(i) Find the size of angle ABC.

e

(ii) Give a reason for your answer.

C’Daos//e £LVLJ4//;€-/} e c,gC/ZA\C ?’ng////oo/v.’/ﬁ/(
a\o/(ﬂé () /f@

(Total for Question 5 is 2 marks)

<
b baix
A and B are points on the circumference of a circle, centre O. A’Vk%)/l’e'/) ot
o) isescelss %
Angle ABO = 48° egu i
(i) Find the size of angle AOB. / gO — & g —4 &
(ii) Give a reason for your answer. 8 L7L—

Aregles of tw.. loctie of on rssSceler. %r,"a«j,Lc oy

o;}umj o QAG LA b G Ll GG L A BB 1B LD
(Total for Question 6 is 2 marks)

N

/




A and C are points on the circumference of a circle, centre O.
AB and BC are tangents to the circle.

Angle ABC = 46°

Find the size of angle OAC.
Give reasons for each stage of your working.

AB( is an isesceles triergle ] tangaats
PraM e some fofnf art Q?uoj

/] ¥ o — £ _ /ng: °
CAL = ¢ e &7
2

/4"’17/,64 at tre Lok of AR JSoscele s

é’//\anj i o~ Q.iuo—j

ol = 700 TaﬂyéﬂtL eehls oo as ot 70°

i

OA4L = FJo —€7 23°

Z 3

o

(Total for Question 7 is $jmarks)

/
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D C E

A and B are points on the circumference of a circle, centre O.
DCE is a tangent to the circle.

Angle ACD = 76°

(a) Find the size of angle ACO.

You must shew all your working.
Ol\‘f'e— reéoe.3an s JLU’

@CZ) = 700 '7’&’194’,'1/' Meets /-D‘d//“'f at 70

90 - 76 = ¢

) & °
2)
(b) Find the size of angle ABC.

You must shew-all your working.
Ye ceosons fur

S

AL = 76 Y atedhalas ffjﬂ@# Theor eu

@)
(Total for Question 8 is 4 marks)

\ /
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"

A, B and C are points on the circumference of a circle, centre O.
BD and CD are tangents to the circle.

Angle ODC = 26°

Find the size of angle BAC.
Give reasons for each stage of your working.

%ia/‘fjlre Bop = Tr/cmg/«f’ pol all jrA€) ot €7¢,Lo/(

08D and ©0CD = F0° Tangent moets "y
at JO°
BOD ondd (ol = ) 8O — 90 —24
— 67, 6
Boc = 2Xx64¢ = (24 e
BAC = /125 - 69# ? /‘%’Aj/f a t c,’rCumﬂ{/fmg
2 /s Lta/zl 7€ a«/:j/{

at Fhe centrf

6o °

(Total for Questioﬂ 9 is & marks)

/




c B

A and C are points on the circumference of a circle, centre O.
BC is a tangent to the circle.

Angle CAB =29°

Find the size of angle ABC.
You must show all your working.

0C//4 = 2/70 A’ﬁﬁ/{f\j at Uhe oo it

o/

ar € e,;ua./(
0C6 - 70“ —//Wﬂj’{ﬂ/{; (V,ezx/—ﬂ /’n_//wj
— - 29 -2
4 pc = &9 70 7

32 °

fl

/@ﬂﬁ les o a Erio 9 /€

wd A ?L‘a /90 ¢

D2

(Total for Question 10 is & marks)

_/




A, B and C are points on the circumference of a circle, centre O.
DCE is a tangent to the circle.

Angle ABC=61°
Angle ACB =173°
Angle BCE = x°

Find the value of x.
You must show all your working.

gAc = 1xo ~— 73 —¢/
- %Lé © /%/LJ/'E_J e

ool A 7o

o

x = 46

Alf ernale 2% il i

o EFre cen 9 (¢

/po ¢

ye

(Total for Question 11 is 3 marks)

/




D E
A, B and C are points on the circumference of a circle, centre O.
DCE is a tangent to the circle.
AB=BC
Angle BCE = 65°
Find the size of angle 40C.
You must show all your working.
£40 _ é5_0 /4/(.6/'*""”& J'——e_tj;/me,n/[—
: ' _fh.earél/"‘
o . Loose o
A c8 = 65 /"Mﬁ jes «~t The 7[)
ar jSoScel-ed f"f&"‘ﬁ/{ o
Agc = 759 -65 762 -
50 ° Angles in o lreeng ™
Z. O o
odt to (FO
. . ) [
Loc = g2 x50 A’)&ﬁ/{, ot Centrt /
= /000 f‘bulpé{f W\j /ﬁ a,f C/fCUM/e/efl&

/ OO
(Total for Question 12 is fmarks)

_J
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A, B, C and D are points on the circumference of a circle, centre O.

Angle ADC = 118°
Angle AOC =x°

Na

Work out the value of x.
You must show all your working.

ABL =

—-—
—

) &0 —11 &

62"

D

A

(9/0/90)“/‘6‘6 ﬂ.ﬂﬁ/f.} R
fjdllé 76{0(%(/’(4/?& ﬂfaj &0(0'{

to [/50°

Anglec at cetre 21
twite anj/f a &

CI/ cusm ,Aef e e

/2y
(Total for Question 13 is 3 marks)

/
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D

A, B and C are points on the circumference of a circle, centre O.
DCE is a tangent to the circle.

Angle ABO =27°
Angle BCE = 53°

Find the size of angle 4CO.
Youmust-show-all-yourweorking

Clive v easons Hor eancia she~g2 o i Gou

u-—e/k_.{,\,)
BAO = 27° #HAngles wt  hose of (tSosceled
friang i< are e7auv(9
éA’C et 5—3 © /4’{!—«(/"4 a{‘(’ F(Cj M/{_/Uf ﬂ-&a/ @ A
/ : P Sosce /-en
Ao = 26° Pngles &f bare of [5°3¢
éfr}ﬂaﬂﬂ (e ot e_7uurz/(

heis ’

(Total for Question 14 is a;,marks)

J




4 12 cm

A and B is a point on the circumference of a circle, centre O.
AC is a tangent to the circle.
OBC is a straight line.

OA=5cm
AC=12 cm

Find the length of BC.
You must show all your working.

o

OAc = 70 'Tﬂ/’bgefuf' meetd
> 2 <
5 4 12 = 0C
/67 = oc®
oc = [i¢q
= /3 em
Be = /3 -5 = e

(Total for Question 15 is 4 marks)

/a.p//utd - 70°

(fﬂdll/lj' = Scm)

y

cm

/




2275

Q2

G

A, B and C are points on the circumference of a circle, centre O.

Angle CAB = 2x°
Angle ABC =3x°

Find the value of x.
You must show all your working.

/}/(/@ = C7OU ff/\.j/{' 1 71 o Y-l crrele
;5 700
22 + 30 ~+ A0 - (| 8O
5> = A0
e = K
as | &

(Total for Question 16 is 3 marks)

J
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D
A, B, C and D are points on the circumference of a circle, centre O.
Angle BOD =x°
Find the size of angle BCD, in terms of x.

Give reasons for each stage of your working.

/ } _ ,
BAD = it Trgle ot cireunference

2
S ol f 0”"()/'{ el ceatr<

BCcp ~ /&0 "JZ’C op o s/ € &ﬂj/ef Jn
—_— o Y el 7 Mat/r'/r/a ool

wdd o 1 EOT

(Total for Question 17 is’3 marks)

_/
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7

C, D and E are points on a circle, centre O.
AER is a tangent to the circle at £.

CD=DE
Angle AEC = x°

Find the size of angle OED, in terms of x.
Give reasons for each stage of your working.

CpE T X Alte rnole /-6(7? mef  Thegre

£
cCeE D = /g o ~* Pre e at T sl
/_— _ 5
2 0} o /'Joj'(@'/*‘-’f f‘fﬂmj/é
ar € aZM.&./(
OEC = Jo—X PDEA T 90° Tanseat /4647“10
/‘o\a«//'m.r et TJO
pEp = 18- (a0 ->)
2
( — —+ 2C
{
=z X L
e (Total for Question 18 is §'marks)

J




+——7cm —_—pe—d cm—

Diagram NOT accurately drawn
Work out the area of the shape.

Srxl = DS
t O

//}),focs =

Heo 2

....................................... cm
(Total 3 marks)

Diagram NOT
accurately drawn

9 cm

8 cm
The diagram shows a shape.
Work out the area of the shape.
§x 9 = 7a
A wiaxs T 30

Z

(Total 4 marks)



3.

Here is a trapezium.

+«— 6cm —

5cm 30

b ¢

<+ 10 cm
Diagram NOT accurately drawn

Work out the area of the trapezium.
s5¢ g = 30

fy plexs = 10

H-O i

...........................

(Total 2 marks)

The diagram shows a wall with a door in it.

v

< 4m

Diagram NOT
accurately drawn

v

Work out the shaded area.

ey =\L
Lx 2 =2

3)
(Total 3 marks)




5. The diagram shows a 6-sided shape made from a rectangle and a right-angled triangle.

2 cm

Diagram NOT

- = accurately drawn

7 cm
12 cm L
X 6 cm

5 2

-

Work out the total area of the 6-sided shape.
2%t = 24
! 3 - 13
e ¥ 6 x 5

(Total 3 marks)



10 cm

8 cm

The diagram shows 3 small rectangles inside a large rectangle.
The large rectangle is 10 cm by 8 cm.
Each of the 3 small rectangles is 4 cm by 2 cm.

Work out the area of the region shown shaded in the diagram.

s O

|

0O x 3

B3O - (> % ?)

go - Gt T

Diagram NOT
accurately drawn

2

...... cm

(Total 3 marks)




9cm N 7cm

Scm

12c¢m
Diagram NOT accurately drawn

Work out the area of the shape.

tD 5 = 6O

/l/zx\‘ika‘ = /O

(Total 4 marks)



10 cm

\ e

«— 2ecm—m—>

Diagram NOT accurately drawn
The diagram shows a rectangle inside a triangle.

The triangle has a base of 12 cm and a height of 10 cm.
The rectangle is 5 cm by 3 em.

Work out the area of the region shown shaded in the diagram.
‘/ k 12 x 10O = €©
2.

3 5

%5 2

.................................. cm
(Total 3 marks)



75m

100m

Diagram NOT accurately drawn

The diagram shows the plan of a field.
The farmer sells the field for £3 per square metre.

Work out the total amount of money the farmer should get.

75 x  J0 O - 7e e 8
= 2975
5 x 70 X ¥
1o 477 5
f o™ S x 3
fLolE2S

(Total 5 marks)



12.5 cm

A
VvV 15cm
6 cm
\
B
Y
A 2
AB is parallel to XY. X . 2
The lines AY and BX intersect at P. ' >
AB =6 cm.
XP=12.5 cm. -
XV=15om. 4 | p 'S
Work out the length of BP. \E
-«
. 5
A - 7
/
Scale 1001 cltor = }—i < ’Zi

/2.5 < 2 = &
2

o

b cm

(Total for Question 1 is 3 marks)

_/




A
9 cm
/ 6 cm
/ B > E
3 cm
C - D . A
<«  Tem—p >
4 _
2
BE is parallel to CD. /
AB=9cm, BC=3 cm, CD="7cm, AE =6 cm. 7
6 S
(a) Calculate the length of ED. -
8 4
% (12 _ ¥ C—
Scale foehs < e T T ;7 7
S
pp = € X S5 = Fer
3 | 2 o
ED = 9 — € = 2ecm (2)
——
(b)  Calculate the length of BE.
7 %
-3 21
7)4__3__::,9;.(,0&5.25 cm
m m 2= @)
—_— (Total for Question 2 is 4 marks)

/




AN

4.8 cm
4—-— 5cm ——>
6 cm
BE is parallel to CD. 5
X 2 A

ABC and AED are straight lines.
AB=4 cm, BC=6cm, BE=5cm, AE=4.8 cm. A _—

V & § /0
(a) Calculate the length of CD. g - ==
») a

. - o ~
Seale A,Cotpﬁ‘:)f 3 — g—

v 5
- 25
(' % = 2’25 or 2.5 2 oh
e T )
(b)  Calculate the length of ED.
HAD = 4L,XX% = /2 em
7 Z_ cm

@)

(Total for Question® is 4 marks)

/




45 cm
P 12 cm 0
4 8 cm B
The two triangles ABC and PQR are mathematically similar.
Angle A = angle P.
Angle B = angle Q.
AB =8 cm. [ 2 3
AC=26cm. : ) z — T =
PQ =12 cm. scale fackr 5 2
QR =45 cm.
(a) Calculate the length of PR.
2
1 —
37 -
(2)
(b)  Calculate the length of BC.
3
¢ 5 T 2
2 - .
(/ S X — — 3 o 3 0 cm

(Total for Question 4 is 4 marks)

_/




D

AB is parallel to DE.

ACE and BCD are straight lines.
AB =6 cm,

AC=8cm,

CD=13.5 cm,

DE =9 cm.

(a) Calculate the length of CE.

Jcake Facke = €.

6
% x 3 cm
ka @
(b)  Calculate the length of BC.
. S
/3.8 — —
Z.
/3.6 X Il 7 - ? cm
s )

—

(Total for Question 5 is 4 marks)




C
/B
5cm ?
/ 4 cm
17 .
A
E D
AC = Sx 3

AB:AC=1:3 AC = /5 cm L kS

—e =

5

()  Calculate the length of CD. A ¢

Su

— 5

Scale fechr = IS _ 4
==
A om
4x3 = LZ @
(b)  Calculate the length of BC.
)5 — 5 = /0
/ 0 cm

(2)
(Total for Question 6 is 4 marks)




A 20 Euro note is a rectangle 133 mm long and 72 mm wide.
A 500 Euro Note is a rectangle 160 mm long and 82 mm wide.

Show that the two rectangles are not mathematically similar.

SCHM 7/‘\5(()*/’0/ 747( /.gf,,lj//h — /6 O

| ( —

“ jAL = F2 o ¢
SC Cl/e ]’/-ﬁQH)/ 7[2)/ i _— —

The Scal€ Ffecetor 7Aa/ /{x/lyﬁ'l ¢ w0 b

ES——

6%,(0«/(7 Jo tTue Scale Lackr Hor
w}roﬁﬁ» L Theyd pre ot §lagslas,

(Total for Question 7 is 3 marks)




1
A 4.8 cm B
L]
3.6 cm
2L
C
Calculate the length of AC.
VA 2 z
3.6 + 4.8 =
T
3o = oC
x = \ b
= o
e Qo cm
(Total for question 1 is 3 marks)
2 4 o
| B
6.75 cm 17.55 cm
C
Calculate the length of B2
A8
” 2
2 z - é 75 2
2= /7. 58 '
2" = 262 44
X = V262 .44
= /6.7
/62 ............ cm
(Total for question 2 is 3 marks)




A
14 cm
6 cm
-
C
B x
Calculate the length of BC.
Give your answer to 1 decimal place.
2
4 “ = 1Y
Z
2
x& = /9, =S {
& = /6°
2C = m—;
= 2.6 (/9) 2B om
(Total for question 3 is 3 marks)
A
2
4.2 cm
C
B 5.6 cm
Calculate the length of AC.
5 2
= X
Y 7 t 4, 56
z
47 = x
z = (49
=7 L -
(Total for question 4 is 3 marks)

_/




/

]

C 10 m
Calculate the length of the 4D. D
Give your answer to 3 significant figures.
19 m
J X
# 14 m 4
2
2 2 z p \ 7
](7;, .fj = 19 /0 + [2.8¢5153 = X
2 _, < 2
. / e 9L =
g = 265 = =
j = /65 .- JEZE
g = s = /6.3 (2sH)
- ]2.8452%... -
6.3
(Total for question 5 is 4 marks)
6 Calculate the length of the AB. B
Give your answer to 3 significant figures.
2 2 9.5cm
4"+ 77 =y "
; z
§5 = j F_l
A \‘j C
" d » 4 cm
z 1+ Y = 7.5 7cm
¢ D
x¢ +€65 = 7.5
x* =7 9.5° - €5
x “ - 26.25
x T\ 25 25
= 5. 02 @sh)
.............. 2:.0Z. .. .m
(Total for question 5 is 4 marks)

)




A 17 cm B
X 8 cm
D c
ABCD is a rectangle .
Calculate the length of the diagonal AC.
Give your answer correct to 1 decimal place.
2 A
R Ll e = ¢
2
353 = X
L - (353
= =128 (0p)
............ 18..8....cm
(Total for question 7 is 3 marks)
ABCD is a trapezium. A 15 cm B
Calculate the length of BC. —I
i &5
2 Lo ——t e e ] -k - -
;;:_?’ = 7 -5 “
bl
x® - 64 l
x=\6¢ D
= ¥
Bc = 12 - 8 = “

R ? ..................... cm

(Total for question 8 is 3 marks)




; )
ABC is an isosceles triangle.
Calculate the perpendicular height of ABC.
Give your answer correct to 3 significant figures..
10 cm
2 z z
x z + = /O
2
2
xt = 10" - ¢ ,
C &€ ¢ —‘ﬂ——_;- B
x° = BY ? gem
x & {”??Z}
= 9.7 (BsF)
oo s msssases ﬁ /7 .............. cm
(Total for question 9 is 3 marks)
10 ABCD is a trapezium.

Calculate the length of AC.

Give your answer correct to 3 significant figures..

c
i3
A;
5 P
= 2
:):?'+S = 13
xl_-:\g ’6
s e [T
x:m

/s
7
s
i ]
D
(
32'-#[2 ERv
v g 77_‘2— 8
J 7e°
v “N2o¥
Iz P tj':/(f.%t
(3s))

............ z(f’%cm

(Total for question 10 is 4 marks)




A ship leaves point A and sails for 3.7 km due North.
The ship then sails for 2.4 km due East to reach point B.

Calculate the the shortest distance between point A and point B.
Give your answer correct to 1 decimal place. 24 Y

.................................................

(Total for question 11 is 3 marks)

12

950
A ladder reaches 2.5 m up a vertical wall.
The base of the ladder is 70 cm from the base of the wall on a horizontal ground.

Find the length of the ladder.

2 z z
70 + 250 = % » o
| L 9
& 7400 = X ¥
xl = 57%00
X = «fé7<foo 0

= 259 6/50777 e
= 260 cm (ﬁearem‘ CM)

.................................................

(Total for question 12 is 4 marks)

ok 2.6m




13

ABCD is a square.
The diagonal of the square is 8 m.

Calculate the perimeter of the square.
Give your answer correct to one decimal place. -

8 m

2x = 64
x” = 32
T 32
= 5. 656854249 m

\
[

Wx 5656 < 22 6m ldp)

.........................................

(Total for question 13 is 3 marks)

14

A television has a diagonal length of 50 inches.

The ratio of the length of the television to the width of the television is 4:3

Calculate the length and the width of the television.
Give your answers correct to 1 decimal place. o
5 3¢
. 2 PR Z
(3 x) * ( Ux) = S0
. - Gx
F ot rlbx” = 2500
x 2 = Joo
x = [0
G4 X110 = &0 O
2 ‘e S o Length é7L ....................... inches
P =
b1 L — SO ................... inches

(Total for question 14 is 3 marks)/




: SoH oA Toh \
1
@ 20 cm xem
N 35°
Work out the value of x.
- — O
sin (35) = ==
v= 20
5i( 35)
= 349 (ldp)
CX S
(Total for question 1 is 2 marks)
X Ccm
N
11 cm @/
42°
Work out the value of x.
tan (42) ’/T
x = (] X tan (42)
= 9.9 (1dp)
SR A
(Total for question 2 is 2 marks)

/




Work out the value of x.

s
cos X - »7/%
s
N = (o3 ( 1Y
<432 (1dp)
...... T S
\ (Total for question 3 is 2 marks)
(@
15 cm
‘ |
®
11 cm
x°
Work out the value of x.
5
tan T = Iy
1 15
x = ftan (,’/‘
= 537 (1dp)

...........................

(Total for question 4 is 2 marks)

J




BT 35° c
20 cm
Calculate the length 4B. @
tan (35) = =
2 O
x = ’20 A 7.1 an ( DS )
= 14.0 (idr)
..... }q’Ocm
(Total for question 5 is 2 marks)
B = C

(3 =
15 cm
42° @

A
Calculate the length 4B.
cos (#2) ~ x
15
x < /5§ X (o3 (#2)
< ys 1 (1ddp)

S ——

(Total for question 6 is 2 marks)

\_ /




@Smm

B—‘ ‘ C

Calculate the size of angle ACB.

Sin X = %
-ty 5
x = sin ' (77)
= /g.2 (1ep)

.............................

(Total for question 7 is 2 marks)

3 B_J 9cm@ C
@SCID

A

Calculate the size of angle BAC.

9
tan x = ?
: - q.
x = tan [ 5 )
< ¢0.9 (1ap)
...... 60.7..»
(Total for question 8 is 2 marks)




15m

Work out the size of angle BAD.
Give your answer to 1 decimal place.

// 2 (© tan
79
15@

gﬁp = 704'76
= 976

p————

4

y

2

/
- 15
I B A
= Lo (ﬁ)

J




B 25°
20 cm "
xcm
I__
16 cm
Work out the value of x.
Give your answer to 1 decimal place.
r]
L —
5 z 4 / é = Z O
P <
j = =z 20 - 1¢
T
j = 1¢9

(Total for question 10 is 4 marks)

N /




11

@9cm
S @ T S~ C
& —— —_—
-¢ 22 cm f
Work out the size of angle BCD.
Give your answer to 1 decimal place.
5 e
tan [37) - j
y = _a
tan (37)
= /. 9Y 34, ..
Cp = 22- 11.943F
= Jo.05657. ..
I
CEN I
/2:\ \
‘to. 05, "
7
arl l ~ .'¢/ h
2 JO-05.
-1 /i_
X = {'a//l /0 0S...

(Total for question 11 is 4 marks)

/




The diagram shows a cuboid ABCDEFGH.

AE =4 cm
AD=5cm
DC=8 cm

D

Calculate the length of AG.
Give your answer correct to 3 significant figures.

4G = 5Te ety
[52¢8% +4”

= J0.2cm
—

i

)

/O 2 cm

(Total for Question 1 is 3 marks)

o _ _/




The diagram shows a cuboid ABCDEFGH.

AB=5cm
AE =6 cm
AG=12 cm

Calculate the length of AD.
Give your answer correct to 3 significant figures.

A,&Z + (2 = /22—
2
A_CZ = /22'6

Ac = V22 -6°

1 6\[—3_ o
5?. + 2" = <6[3-)

{)

2
x° (éﬁ) -5
= /03“25
x = | g3 q// _
= 9.7/

(Total for Question 2 is 4 marks)

)




The diagram shows a cuboid ABCDEFGH.

AE =4 cm
AD=5cm
DC=8cm

Calculate the size of angle ECA.

Give your answer correct to 3 significant figures.

pe" = 5%+ 82

Ac = /524 g2

fA
V4]
9

.
o] ™
p U [

O
B ¢
= _—
(8a "
~ 1/ ’
cx tan”' (T )
- 23.0°

23.0 °

(Total for Question 3 is 4 marks)

/




The diagram shows a triangular prism.

CD=7cm
AD=10cm
Angle ADC =30°
E F
[
C
30° 7cm
4 10 cm D
Calculate the size of angle AFC.
Give your answer correct to 1 decimal place.
_ X
@ £ tan 30 =
/(/J e
p @7
2 2
7 AC < W
= [2.2065 .-
A io D
F ban b= 122
" " ?-0‘%
Foy @ . [ 122
—c 0 = 47 o
/i . 2 < 7.7 7.7
O (Total for Question 4 is 4 marks)




The diagram shows a pyramid.
The base of the pyramid ABCD is a square.

AB=5cm

The point E is 10 cm vertically above the base.

E

Calculate the size of angle EAC.

z
AC ©
AC =

i

£t e 5
JsT+5°

7. 07106 ..

AM = T7.07/06

2z
- 3.5355 o
= - .
‘ 2 . YN o
\oéD 4 = Con [35355>
9\. 0, = 70.5 70.5...°
3535 5 @ (Total for Question 5 is 4 marks)

/




The diagram shows a triangular prism.

CD=20cm
AD=30cm
Angle ADC =35°
E F
- '///’f/..
.//B ( C
6 350 20 cm
<
4 30 cm D

Calculate the size of angle the line AF makes with the plane ABCD.
Give your answer correct to 3 significant figures.

2.2

o

'C, 2 7 7
/‘}C - 30 )
20 4t = (30%+20°
= 36.0555cm
(,,
30 UV
F
'
1. 00 Y%
@ 4
A 26,055
, /4. 00 ¥
tan 0 36.05%
= 2).2°

(Total for Question 6 is 4 marks)

/




The diagram shows a pyramid.
The base of the pyramid ABCD is a square.

AB=15cm
Angle PAC = 65°

Calculate the volume of the pyramid.

[ b
volume = — gﬁéf)x haigis o R
ban 60 =

s ) 2
=)+ 15 h .
Al /5 @L\i 10,6 660#1,(75/

2 h 2 o
/ 6S o
)5 15 : - 22.7¢59. ..

AC =

0. bob ,
= 15/2 em ‘b °
H,m = /g\.//i 1/4,,&@0( CD}/ LO(/»)‘Q = | SX )5 ,
L. G-ZQ/S&M

= /0. 606 crm 1 (g95)(22.7
Volume = 73 (22 )( >

= 1706

| 706 o

(Total for Question 7 is 5 marks)

- Y




(a) Write down as a column vector

() a+b (g‘j " < 5|>
(ii) 2a + 3b 1(?3.) ~r3( ;_)

A 3
+
()+(3)
The vector ¢ is drawn on the grid.

(b) From the point P, draw the vector 4¢

>

2)
.......... QLo
{1
-
21
e
(1)
_ (Total for question 1 is 4 marks)



(a) Write down as a column vector

@a+h (,‘f) r(j )

(b) From the point P, draw the vector ¢

{h

(Total _for question 2 is_ft_wx_n_alﬁ'_ks) o



(a) Write down as a column vector

@Hatb (—;) + <—5')

)
( ’2) ~(—5\>

(b) Translate the triangle by the vector ( :;)

(1)

~ (Total for question 3 is 4 marks)




A is the point (3, 2) and B is the point (4, —1).

(a) Write down as a column vector AB
0)-(2)
~| “\2

C is the point (5, —2) and D is the point (2, 1).

(b) Write down as a column vector CD

______(Total for question 4 is 2 marks)

A is the point (5, 1) and B is the point (4, -3).

(a) Write down as a column vector AB

5)-C7)

C is the point (1, 6) and D is the point (-3, 9).

(b) Write down as a column vector CD

oL )

_(Total for question 5is 2 marks)




- 6 ABCDEF is a regular hexagon with centre O.

Od=a
OB=b

(2) Find, in terms of a, the vector

(b) Find, in terms of a and b, the vector AB

(c) Find, in terms of a and b, the vector AF

(Total for question 6 is 3 marks)




f

7 The diagram shows a parallelogram.

4 B

2b

2% &

5:4= 2a
OB="2b

(a) Find, in terms of a, the vector DA

(b) Find, in terms of a and b, the vector AB

..............................

(¢) Find, in terms of a and b, the vector AC

(Total for question 7 is 3 marks)




A
5a
> |
0 3b B |
5;1253
OB=3b
M is the midpoint of AB
(a) Find, in terms of a and b, the vector AB
—ha +3b
_— (1)
(b) Find, in terms of a and b, the vector AM N
half of PO
_5as3b
.................. 2o
H

(c) Find, in terms of a and b, the vector oM

(Total for question 8 is 3 marks)




There are only red marbles and green marbles in a bag.
There are 6 red marbles and 4 green marbles.

Mason takes at random a marble from the bag.
He does not put the marble back in the bag.

Mason takes at random a second marble from the bag.

(a) Complete the probability tree diagram.

) 2™ marble
1* marble

Red

Red

Green

Red

Green

Green @)
(b) Work out the probability that Mason takes two marbles the same colour.
6 5 Se
= X — & i
Flped Rod) 7y 7 70
Pttt ploe) = —— x 3= iz
7 70
30 12 L2 f{g—%—
To 90 Q0 e @)
(Total for Question 1 is 4 marks)
o L
/15




\

Each day Paul wears either a black tie or a red tie to work.

On Monday the probability he wears a black tie is 0.6

If Paul wears a black tie on Monday, the probability that he will wear a black tie on Tuesday is 0.35
If he does not wear a black tie on Monday, the probability that he will wear a black tie on Tuesday
is 0.68

(a) Complete the probability tree diagram.

Monday Tuesday
Black
Tie
Black
Tie
Red
Tie
Black
Tie
Red
Tie
Red
Tie
@
(b) Work out the probability Paul wears different coloured ties on Monday and Tuesday .
PBLatk, fed) = O.6 x 0. 65 = 0317
B 6y = @272
p(red, Slack) = O-4 %€
©0.39 + ©0.272 0 662 0‘66(23)
(Total for Question 2 is 5 marks)
2
%38l
500




There are 8 counters in a bag.

5 of the counters are red.
3 of the counters are blue.

Two counters are taken at random from the bag.

Work out the probability that one counter of each colour are taken.
You must show your working.

=
5¢

£

o '
' 5 | &
-y @ e
\/ 2 L=
R

&

‘
W
)

/5 + /&
S6 > &

\

U
N

2O
=g

(Total for Question 3 is 4 marks)

o 12
2y




There are 10 counters in a bag.
5 of the counters are red.

3 of the counters are blue.

2 of the counters are green.

Billie takes two counters are taken at random from the bag.

Work out the probability that both of the counters Billie takes are the same colour.
You must show your working.

& v . Zo
F[w,ﬂucj:l/(;*?"%’
2 2. ¢

f(8lue, Bluc) = o =7 G

a[ 2 ~
/ %e&‘“/ gre&n.,) - — X — = ——
/ O

20 . & L = - 28
70 90 a0 ?o
2.
o,
Q

(Total for Question 4 is 4 marks)

(&,, e
45 )




Here are seven number cards.

Helen takes a card at random.
She does not replace the card.

Helen then takes another card at random.

(a) Calculate the probability that both cards have the same number on them.

Z ! 2
(1, 1) = 2 xt=2
7 6 G4 2
F /2/ 2 ' - ’%" X //' — /Z/'
) 7 6 “ 7
, s &
7 z w2 e
I S
5 .
E-T N S-S 7L
2 G2 &z 24 (lo N 3
(b) Calculate the probability that the number on the second card Helen takes“is greatgf !chan the

number on the first card she takes.

| 2- 2~ - 4

F(I/Z) ;7)( (& &2

\ 2 T _ L

(3 = x4

| A 2 6

P(23) = — " e T w2
— | % ey 4

72

&)

(Total for Question 5 is 6 marks)

o 2
. .’LI‘

/




D

50 people were asked if they like tea, coffee and hot chocolate.

Every person liked at least one of the drinks.
17 of the people like all three drinks.

31 of the people like hot chocolate
34 of the people like tea.
21 of the people like tea and coffee.

7 of the people like tea and hot chocolate but not coffee
2 of the people like coffee and hot chocolate but not tea

Two of the 50 people are chosen at random.
Work out the probability that they both like coffee.

/I"

(N T

Hﬁo

9 (e c,oOQOLe—e

22 x 3L 476
50 “4 9 /1228

76
| 2.2.5

(Total for Question 6 is 5 marks)

ok O. 4065

OR_ 992
2480




50 people were asked which fruits they liked from apples, bananas and oranges.

11 people like all three fruits.

33 people like apples.

6 like apples and bananas but not oranges.

15 like bananas and oranges.

5 of the people do not like any of the fruits.

All 25 people who like oranges like at least one other fruit.

Two of the 50 people are chosen at random.
Work out the probability that they both like bananas.

—_—

s |75
122 3

(Total for Question 7 is 5 marks)

¢ o 331

RPEYE e




50 people were asked if they like tea, coffee and hot chocolate.

Every person liked at least one of the drinks.
17 of the people like all three drinks.

31 of the people like hot chocolate
34 of the people like tea.
21 of the people like tea and coffee.

7 of the people like tea and hot chocolate but not coffee
2 of the people like coffee and hot chocolate but not tea

Two of the 50 people are chosen at random.
Work out the probability that they both like coffee.

1 C

K

HC O

32 lire coffee

5o &+ 7 /225

G$ 76

,/—“

! 2248

(Total for Question 6 is 5 marks)

972
2450

o R

0R.  0.408%

/




50 people were asked which fruits they liked from apples, bananas and oranges.

11 people like all three fruits.

33 people like apples.

6 like apples and bananas but not oranges.

15 like bananas and oranges.

5 of the people do not like any of the fruits.

All 25 people who like oranges like at least one other fruit.

Two of the 50 people are chosen at random.
Work out the probability that they both like bananas.

29 (ke bananscs

2.9 2y ol = 58
X = —_—
T 5 175

58

/175

(Total for Question 7 is 5 marks)

g/ L

oK e

245 0

ok 0. 33/

_/




The table below gives information about the time taken for 20 people to run 5 km.

Frequency

Time (minutes) Frequency
15<t<£20 3
20 <t <25 6
25 <t<30 7
30 <t<35 4
Draw a frequency polygon to show this information.
A
8 -
%\
6
,/
4 # 7
X
2
0 +
15 20 30 35
Time
(minutes)

(Total for Question 1 is 2 marks)




The frequency table shows the time taken for 100 people to travel to an event.

Time (minutes) Frequency
0<t< 10 14
10 <t <20 16
20 <t <30 23
30<t< 40 29
40 <t < 50 12
50 <t<60 6

Draw a frequency polygon to show this information.

+

30
« AN
20 L :
Frequency L] \
- \
10 T
0 - >
0 10 20 30 40 50 60
Time
(minutes)

(Total for Question 2 is 2 marks)




The frequency table shows the weight, in kg, of some cats.

Draw a frequency polygon to show this information.

Frequency

25

20

15

10

Weight (kg) Frequency
0<w«l 8
l<wg2 10
2<w<3 21
3<wg4 19
4 <w<S5 13
5<w<6 9

A

S~

(Total for Question 3 is 2 marks)

/




The frequency table shows the heights, in cm, of some tomato plants.
Height (cm) Frequency
140 <h < 150 7
160 < h < 170 15
170 <h < 180 19
180 <h < 190 9
Draw a frequency polygon to show this information.
0] !
15 4
N
Frequency
10 y
'/
5
0 >
140 150 160 170 180 190
Height
(cm)
(Total for Question 4 is 2 marks)




The frequency table shows the speeds of 100 cars.

Frequency

30

25

20

15

10

Speed (km/h) Frequency
0<s<20 6
20 <s <40 17
40 <5 <60 29
60 < s < 80 25
80 <s< 100 20
100 <s < 120 3
Draw a frequency polygon to show this information.
A
N
N
/ N
~N
A
y 2
\
K \
/ \\
\
\
\
/. \
/
\
A}
\
\
\
\
P
0 20 40 60 80 100 120
Speed
(km/h)

(Total for Question 5 is 2 marks)

/




The frequency table shows the temperature, in degrees, of 30 days.

Temperature (°C) Frequency
10<tg 14 1
4 <t 18 4
18<t<22 16
22 <t 26 9
26 <t< 30 2
Draw a frequency polygon to show this information.
A
20
%
15
/:
/ \
/ \
Frequency
10
/ \
\
/! \
5 /. S
¥
P
0 ' b
10 15 20 25 30
Temperature
0

(Total for Question 6 is 2 marks)




The frequency table shows the heights, in cm, of some people.

Height (cm) Frequency
140 <h < 150 v
150 <h < 160 25
160 <h < 170 34
170 <h < 180 29
180 <h < 190 16

Draw a frequency polygon to show this information.

A
40
?O ’/ \(\
i A
_V.Q{\'(/j
RERE EERE N
/|
/0 v
o) >
o )50 /60 170 /o /90

Height (o)

(Total for Question 7 is 4 marks)

_ Y,




1 The table shows information about the age of 80 teachers.

Age (years) Frequency . ol
Fo= r;;efnv 20<a<30 20 o) [io =10
i
30<a<3s 2 L. 4 [22.",5]
35<a<405 16 3.2 [16%5]
40<a<s0 13 1.3 [,3%\@]
0<a<65 9 o.6 [ﬂ%\%]

On the grid, draw a histogram for the information in the table.
A

5 .

20 3¢ 40 50 6o 70

Arae (fears )

(Total for question 1 is 3 marks)

N\ /




ﬁ

2 The table shows information about the speed, in mph, of some cars.

Speed (mph) Frequency = ol
\5

40 <s <55 6 o.4
&

55 <s <60 10 2
9

60 <s <65 46 9.2
\O

65<s< 75 48 4.9
)

(a) On the grid, draw a histogram for the information in the table.

7'y
10
&
F :
8
6 i
Lf
2 I
ho 5o 6o To go 90 3)
Speed (mph)
(b) Work out an estimate for the number of cars over 70mph.
......... 20....
()

(Total for question 2 is 4 marks)
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3 The table shows information about the weight of 60 pigs.

(b) Find an estimate for the median.

RO on Packh Sside

Weight (kg) Frequency -
IS
60 < w < 75 9 6
7
75 <w < 85 16 . 6
5
85 <w<90 25 LS
20
90 <w < 110 10 .5
(a) On the gnid, draw a histogram for the information in the table.
'y
5
J.' ‘ ’
€ t ;
3 1
2
[ %S
0 P
6o 70 g0 90 oo 110 (3)

(Total for question 3 is 5 marks)
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4 The table shows information about the time, in seconds, taken for

some people to run a 100m race.

Time (s)

(b) Use the histogram to complete the table.

2\x 2 = W72

Time (s) Frequency e
10<t< 12 6 3
12<t<13 21 21
13<t< 14 23 23
14<t< 16 U2 2 |
16 <t <20 8 g
(a) Use the information on the table to complete the histogram.
A
%5 : , :
1 i i
(,v . ]
¢ 20
15 |
10
5
2 - -
10 12 14 16 18 20

(Total for question 4 is 4 marks)
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5 The table shows information about the time, in seconds, taken for some people to complete a puzzle.
Time (s) Frequency F. A
10<t<25 12 0. %
25 <t<35 28 2.9
35<t<40 42 Q.4
40 <t <45 30 6
45 <t< 60 9 0.6
(a) Use the information on the table to complete the histogram.
A
i0 :
Fet '
&
‘ .
1 ) -
nEE NN
4 |
t :
|
. l RN :
EEnmR il
o IR B >
10 20 30 40 50 60
Time (s)
(b) Use the histogram to complete the table.
(Total for question 5 is 4 marks)
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6 The histogram shows information about the weight of pigs.

A

Frequency
Density ‘g

50 60 ‘ 70 80 90 100

Weight (kg)
30 pigs weigh between 50 and 65 kg.

(a) Work out an estimate for the number of pigs which weigh more than 80kg.

20 TS
35 ...
(b) Explain why your answer to part a is only an estimate. )
we are  using qrovped data.  We don't wagw how
) S AL T G et
| ' twee 85 leq
M. f1g. W gh hetweet  T0 and 524y o

(Total for question 6 is 4 marks)
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7 The histogram shows information about the height of some plants.

A
0 10 20 30 40 50
Height (cm)
(a) Work out an estimate for the proportion of plants over 25cm tall.
6 + 6 = 1L
j2 416 v 22 402 4 6 = 68
12 3 | &
r — —
S8 77 L 6s ..
3
(b) Explain why your answer to part a is only an estimate. ©)
LWE AL A .x.é.nﬁ....g.z.a.up«eoi data.. Wt dont. tnow heow .
wang....plent s ace. betueen 2 and 30 cm Ll
(H

(Total for question 7 is 4 marks)
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